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£<CH 5% 037 0. kg 6,048 5,184| 1,404
<A fAxtER3| = 3hn4y7 1. kg 6,048 5,184| 1,404
=L 0 E=FRST |=W 304y7 0. kg 6,048| 5,184| 1,404
mLCE U5 kg — -— —
mEE bt E] kg = B s
a3 HE=FR5E kg ==l =4 ===
nob HY5E ERE 0.1 kg 648 -— 594
noB fAxtER5] ERE 1] ke 648 —| 594
nodk BE=FRE |(ERS A ke 648| —| 594
& B Y5 ke ==l = =
=F HExERE] kg - — —
r-3v3 FE=FRE kg sl ] e
9 Y5 E: 0.1 ke 1,512  —| 972
F9 Rl E] E: 0.1 ke 1,512 — 972
i B E=FEE |FH 0.1 | kg 1,512  — 972
LhL Y5 =l Al 0.2 | ke 594|  567| 475
L3l HaxEL5] =il Al 0.6 | kg 594|  567| 475
LygniL E=FRE (Bl Al 0.3 | ke 594| 567 475
HL B Y%k RIG kA 0.2 | ke 972 648 324
HL x| 5 FhEH 0.4 | ke 972| 648 324
HL BE=FRET |RI& FiH 0.2 | kg 972 648 324
=& H U35 i FIE 0.2 | ke 475 —| 389
=E AxtEE Ri% F3E 0.2 | ke 475 —| 389
xE E=FWRET |KI& T3 0.2 | ke 475 —| 389
SAFE HU5E kg = s A
SAFE HxtER 5| kg -— — -—
SAFE E=FR5E kg e e s
A4 #UY5E = 0.1 | ke 648 -—| 540
AL faxtERs| Ko = 1.6 | kg 1,026 918 540
AL E=FKE |KH = 0.3 | ke 1,026 918 540
Ub&H 5% FhE 0.2 | kg 972 756 486
6>Y. > FAXTERE] FhH 0.2 | kg 972| 756 486
Voo E=FWKRE |FHE 0.1 | kg 972|  756| 486
ANy AR U5 dbiEE 0.1 kg 156 648 270
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MLy % E B e 0.2 | ke 756  648] 270
Ay IR g=ERE |diEE 0.1 | ke 756| 648 270
=5 58 FLHE 5 0.1 kg 972 — 162
=5 HxtE 5| FH 5 0.1 kg 972 — 162
25 s=FZHE (A 55 0.1 ke 972| —| 162
£t B Y5E - 0.1 kg 486 S 270
E321%s HxEmsl  |F 0.1 ke 486 —| 270
[E- I+ E=EHRE |F 0.1 | ke 486 —| 270
i o [ &+ U5 kg -— — e
(0 o b o HxtERsl kg -— ——— ——
o e = E=FR5T kg — _— -
=L ks i HE EH 0.1| ke | 1,296] 810 486
=1 MxtEE  |FE B 1| ke | 1,206 810 486
f= i E=ERE (A 55 1| ke | 1,206 810] 486
=LA B UE kg — n— =
=LA X ELE ke ST T e
LA E=FW%T kg — _— —_—
s J AV Y 5E L 1l ke 1,728 —| 1,404
BY L s paive] T kg 1,728 -] 1,404
BY L S=EHE |FH | kg | 1,728  —| 1,404
EJAY: 2+ U5 kg _— — -
E LA HxEL 5] kg -— — —
o S Mk ) FE=FWRET kg _— — —_—
g Y 5E =877 0.1| ke | 1,836 —| 1,080
e EpSEE] =877 0.1 ke | 1,836 -—| 1,080
feic s=EHE B 0.1| ke | 1,836 —| 1,080
EAEA U5 s 0.1 | kg | 43200 —| 4212
ZFAEA HxtEsl L& 0.1 kg 4,320 —| 4,212
EANEA F=FWRE |diEE 0.1 kg 4,320 —| 4,212
ZDEEE 58 0.1 kg _— _— e
ZDOfthEERA HHxTE S| 2.0 kg —— —_— =
Z DA E=FWR*T 0.1 kg — — —
AEZY 2 UY5E kg —_— S .
AEAV HxtE 5] {8 397 BEm7TT 0.6 kg 3,240 2,160 864
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AEAU E=FRT (VM7 RETTT 0.2 | ke 3,240| 2,160 810
AEOD U5 kg i m— S
AELD X E5| & AEH* 0.5| ke 540| 432 302
AL E=FRET |FH KEHF 0.3 | ke 486| 324 270
AEML HU35E kg S = e
AEMNL |FEXEEI i g ) F2UH 0.6 | ke 1,188|  810| 432
AdEhhly |E=F/ERE |hTH FAUA 0.5| ke 1,134 756 270
FOMAE |[BUFE kg ==l ©e=jj s=
FOAE  |[HEEREI 2.7 | ke e e
Z DR E HE=FRT 1.8 | kg == =5 ==
B ET #Y5E kg o TN N
B ET fExtER 5| BiF dtimE 0.3 | kg ,700| 1,836 540
B ST E=FERET |AT7T jtiEE 0.4 | ke 2,700 1,836| 540
A HY5E kg sas I I
BT HExtER S| TiOd |(FoRk— 0.2 | ke 7,560 3,780| 2,376
T E=HFRSE |7AUHN |[TFow—Y 0.2 | ke 7,560( 3,780| 2,376
BIRF Y5 kg —_ -] —
BRF At ELS| FAUH a7 0.3 | ke ,780( 2,376( 1,296
BRF E=EFEESE |FAUA  (ALT 0.3 | kg | 3,780 2,376/ 1,296
ZTOMEFT [BYSE ke —_ - —
ZTOMIEF  [HExERE] 7.3 | ke 648|  594| 486
ZTOMEF |[E=FRE 4.9 | kg 648|  594| 486




